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@ x> +2x-15=(x-3)(x+a)
© 2x* +10x+ 12 =2(x+ 3)(x + b)
© (x+c)(x—c)=x2-9 (c>0)
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@D +2x-15=(x-3)(x+5) ~a=5

©2x> +10x+12=2(x+3)(x+2) .b=2

© (x+3)(x-3)=x>-9 .c=3

@ —2x?-16x-32=-2(x+4)? ..d=4
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@) x(x+2) @ 2(x+2) @ x(x*+2)
@ x(x+4) ® x*(x+4)

X3+ 4x? 4+ dx = x(x® + 4x + 4) = x(x + 2)?
x® 4 2x% = ¥ (x + 2)
LB AFE x(x +2)




4. T A+ Bx+C & Q5ES)] SFAE U (3x—1)(2x+ 1) ©] Hgich.
o m, A+ B+ C °] g2 Fstoiek

AxX> +Bx+C=(3x-1)(2x+ 1)
Ax> + Bx+C=6x>+x-1
~A=6,B=1, C=-1
LA+B+C=6




5.  75x2-12y? = a(bx+cy)(bx—cy) W, AT a, b, c & Za+b+c
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@10 @ 15 ® 20 @ 26 ® 28

75x% — 12y% = 3(25x% — 4y?) = 3(5x + 2y)(5x - 2y)
La=3,b=5c=2
La+b+c=10
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@ (x+3y-1)(x=-3y+1) @ (x+3y+1)(x-3y-1)
(@)(x+3y—1)(x—3y—1) @ (x+3y-1)(x+3y-1)
® (x+3y+1)(x-3y-1)

(F4) = {(x— 1) —|-3y} {(x— 1) —3y}
=(x+3y-1)(x-3y-1)
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(F4]) = a® - 12ab + 36b> - 25
= (a—-6b)>-25
= (a—6b+5)(a—6b-5)

" (@—6b+5)+ (a—6b—5)=2a—12b




8. 3a’b-ab 9 A7} opd 29

® 1 @ a ® b @aw  @a

3a*b — ab = ab(3a — 1) ) B2 3ab® — ab 2] A5 a®b= QUTH.
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4x% +28x + 45+ k= (2x + 7)?
k=4
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x?—18x—88 = x? + (4 - B)x— 4B
4-B=-18, ©.B=22
. A=-4B = -88
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6x2 +7x+2=3x+2)(2x+ 1)
La+b+tc+d=28
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(3x — By) (Cx + 3y)

=3Cx% + (9 - BC) xy — 3By?
= 6x% — xy + Ay?

3C=6, C=2
9-BC=-1, B=5
A=-15

.. A-BC=-25
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> HeE: a-b=-1

¥ +ax+6=(x+2)(x+p)
=x>+(p+2)x+2p

p=3

24+p=a .. a=5

3x2+3x—b=(x+2)(3x+q)
=3x2+ (¢ +6)x +2¢

6+g=3 q=-3

9% =—b.b=6

Ta-b=5-6=-1
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-2 @-1 oo @ 1 ® 2

¥ +ax—20=(x+4)(x-5) a=-1
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@D x(x+2y)(x—2y) (@)Zx(x +2y)(x = 2y)
® 2(x+ 2y)(x-2y) @ 2x(x+2y)(x-y)

® 2x(x+y)(x—2y)

2x3 — 8xy? = 2x(x? — 4y?)
— 2x(x+ 29)(x - 2)
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@ (x-4)(x+2) ® x(x-4)

x-2=1% 2|&stdA
2-2t-8=(t+2)(t-4) = x(x-6)




x-y=A & A8stH
(x=y)(x-y+6)+9=A(A+6)+9
=A%+6A+9
=(A+3)°
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@D (a+2)(b-2)

@ (a-2)(b+2)
® (a+1)(b-2)
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19. x=V2+1,y=+v2-1<¢ ], x?-y% ] g2 FstH?

® 2 @v2 @22 @uvi O3

x+y=2V2, x-y=2
-yt =(x+y)(x-y) =2V2x2=4V2
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On @ 2 ® 3 @ 4 ® 5

a® — 6ab + 9b* = (a — 3b)?
= (1.75 - 3 x 0.25)2
=12=1




